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1. Use the Gelosia grid to work out 38× 76

38× 76 = ..................................
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2. Use the Gelosia grid to work out 852× 67

852× 67 = ..................................

3. Use the Gelosia grid to work out 607× 89

607× 89 = ..................................
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4. Use the Gelosia grid to work out 487× 19

487× 19 = ..................................
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5. Use the Gelosia grid to work out 609× 48

609× 48 = ..................................

6. Use the Gelosia grid to work out 96× 38

96× 38 = ..................................

Answers Q1: 2 888 Q2: 57 084 Q3: 54 023 Q4: 9 253 Q5: 29 232 Q6: 3 648
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